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revise	P(CS2201	|	CS	1101)	
…	
revise	P(CS3281	|	CS	1101)	

For	example,		
			if	an	A	in	CS	1101	
								then	probability	of	A	in	CS	2201	higher	
			if	a	C	in	CS	1101	
								then	probability	of	A	in	CS	2201	lower	
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As	a	student	moves	through	the	schedule,	
			conJnue	to	revise	grade	probabiliJes	(and	expected	GPAs)	
	
(P(CS	3250	=	A|…)	*	4.0	+	P(CS	3250	=	B|…)	*	3.0	+	…	)	*	3	
+	(P(CS	3270	=	A|…)	*	4.0	+	P(CS	3270	=	B|…)	*	3.0	+	…	)	*	3	
+	…	
/	total	credit	hours									
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How	likely	is	this	schedule	to	be	achieved?	
	
Use	a	hidden	Markov	model	to	esJmate	(next	week)		


